‘T’ P SOLID GSX Enclosure system
ower needs control

[cPx-2L2 |

for LA2 CP1-212 CP22-2L2
(ostony do LA2) i [
Mounting instructions m
Montage anleitung fa_ 250 mm

Navodilo za montazo
Instrukcje montazu
Upute za montazu B E
Montazni ndvod
Navod na montaz
Szerelesi utmutato CP2-212 CP3.82L2
Montavimo instrukcija ' ‘ ‘
MHCTpyKUMS 3@ MOHTaX B B
Montazas instrukcija - 500 mm g : 950 mm
Paigaldusjuhend

CP1.4-212 CP3-2L2

350 mm E 750 mm g3

90BEERRERLERS

T - - Closed Closed ___ -
12 000| =—m|lO[12 =—— — = 12|00 == |[c00 12
8,8, o o
N 1 o1 1[0 soa 1
g ° Open Open o
m 10 oo O|10 10|0 o00 10
9 o @%« ol 9 9 |O|—=1 @po 9
8 2| oq@ J=—|O| 8 — — 8 |O—=H @po 8
o o
g 7 o ooo Ol 7 @ @ 7 10 coo 7
§ 6 |7 ||ooo ole 6(0] 000 6
5 od®y i=—O| 5 5 |O|—={ @®po 5
4 0@ J=—|O| 4 4 |O—=H @po 4
3 oo0 O| 3 3|0 oo0 3
2 coo O] 2 2 |0 ooo 2
e} ° ° o
1 1 W®o O] 1 =— = —= 10 oG 1
Closed Closed
Position 1 - with RO LA2 - cut out/ remove A, B \
(zRO LA2 wycig¢ / usung¢ A, B)
Position 2 - with ROD LAL,2 - cut out / remove A, B, C
(zROD LA1,2 wycigé / usunaé A, B, C) (—)
Position 3 - with RO LA2 - cut out/ remove A, B, C
(z RO LA2 wycigé / usungé A, B, C) .
Position 4 - with ROD LAL,2 - cut out/ remove A Screwdriver flat-blade
(z ROD LA1,2 wycigé / usungé A) (Wkretak piaski)
Position 1 and 2 / Position 3
No. Type ETI Name Pcs. Hole-position niarker No. Type ETI Name Pcs.
1 |LG-VS Support 4 left-down 1 LGV Support 4
2 |AST 4.8x9.5 Tapping screw 8 (Otwér-znacznik pozycji 2 |AST 4.8x9.5 Tapping screw 8
3 |AW-RE5 Washer M5 DIN9021 Zn 4 lewy dolny rég ) 3 |AW-RES Washer M5 DIN9021 Zn 4
4 |AS-C 5x10 Screw M5x10 DIN7985 Zn 4 4 |AS-C 5x10 Screw M5x10 DIN7985 Zn 4
Position 1 Position 2 Position 4

Doors
(Drzwi)

Doors
(Drzwi)

Position 3

Lt

Screwdriver PH2
(Wkretak PH2)

AS-C 5x10 2,2-3,5 Nm

A13.06 |981000502 12

0@9@@@0@9@@@0@\

O DD D202 2\




‘T’ P SOLID GSX Enclosure system
ower needs control

CPX-2L2 |
No. Type ETI Name Pcs.
1 |AS-C4x20 Screw M4x20 DIN7985 Zn 4
2 |AW-S4 Washer spring M4 DIN127 Zn | 8 . . . . .
3 |AWR4 Washer M4 DIN126 Zn 4 Switch disconnectors montage in specified holes (black points)
4 |AN-H4 Nut M4 DIN934 Zn 4 (Roztgczniki montowa¢ w otworach oznaczonych czarnymi punktami)

PM1E12L12

Screwdriver PH2
(Wkretak PH2)

AS-C 4x20 1,7-22Nm

o o, o
o ° ¢° o °
o
o o o
o] o] o o o o o
o o o
o
oo L] .o(’ 00 °

PM 3 E12L12
e °° o e "° o e °° o
o o o o o o ©
o] o] o] [0 (e} (e} (e} (e} Q o] o] o]
o o o o o o
o
°“ .o ® °“ o e © o ®

OETAIL A

K

Hole-position marker
left-down
(Otwor-znacznik pozycji

o, o o, o o, o
o° ° ° o° 3 ° o° ° °
o o o o o o °
o o o o o o o o o o o o o o o
° ° o o ° °
e}
% o 3 % o . % o 3
lewy dolny rég )

A13.06 |981000502 2/2




